—

SH=25 1] SIXIOf 2t SR LIEHH=

S0 2ol e T

#71(J00) RE, 2 e TR | 2R 2

O

oo

——— G ———

N

2H18M O

o 27| S 71 2lsh SI4X|= 1124 (R1, B/Moderate)
- YUm=A 12 (8K, R1-1, B/Moderate)
-2t 124 (EE, R1-2, B/Moderate)

- A SE 117 (R1-3, B/Moderate)

- AYEY A (ESR, R1-4, A/High)

- A=A H O (EEY, R1-5, A/High)

— DREIE XA IES 12 (513, R1-6, C/Moderate)

- Z2EH 113 (B33, R1-7, B/Moderate)

- HAS A1 (B8R = 71813, R1-8, B/Moderate)

- 70jZ&E #1 (R1-9, GPP/CTB)
- QIMTH=A A (Z5K Io= 7 [543, R1-10, GPP/CTB)
- SN WE I (EES, R1-11, GPP/CTB)

X =
o 7| HIEY ABE SHE U=
(R2, B/Moderate)
AR

o 27| HISA 2512 2HEZ AR 112 (R3, B/Moderate)
-GV14,BL12,BL13,GB21 £

o 27| B4 71 Lok Btk = 11
(R4, B/Moderate)
- AAISE 124 (R4-1, B/Low)
-2kt 12 (B, R4-2, C/Low)
- AYEE 112 (38K, R4-3, GPP/CTB)

Ao

* 27| N 2512 SHE S Bk
3 12/ (RS, C/Moderate)
-, U, evids

Oolxikd
Iz

© TA71 271 B B SH )

1174 (R5, B/Moderate)




